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GRAPHING WORKSHEET # 3
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1.
The graph above is a position-time graph for a car. Answer the questions below:


a. During what time period(s) is the object at rest.  



b. What is the average velocity between 0 and 20 seconds?
 

c. What is the instantaneous velocity at 15 seconds? 


d. When is the object accelerating? 



e. How do you know? 


f. What is the displacement of the object at 10 s? 

g. During what time period(s) is the object traveling the fastest. 


2.
The graph above shows a skier’s velocity as a function of time. Answer the questions below:


a. When is the skier traveling the fastest?


b. How far does the skier travel between 20 and 50 seconds? 


c. What is the skier’s velocity at 10 seconds? 


d. When is the skier at rest? 


e. How far does the skier travel between 50 and 60 seconds? 


f. What is the skier’s instantaneous acceleration at 10 seconds? 


g. What is the skier’s instantaneous acceleration at 30 seconds? 


h. What is the skier’s average acceleration between 0 and 20 s? 


i. What is the skier’s average acceleration between 20 and 50 s?
 

j. What is the skier’s average acceleration between 0 and 40 s? 
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3.
The questions below refer to the velocity -time graph above for a bicycle.


a. What is the acceleration at 4 seconds? 



b. How far did the object move between 0 and 2 seconds? 


c. What is the object’s velocity at 1 second? 


d. What is the object’s acceleration at 1 second? 



e. What is the object’s acceleration at 7.5 seconds? 



f. When is the object undergoing uniform acceleration? 


g. What is the total distance traveled by the bicyclist?


h. What is the displacement of the bicyclist from the beginning to the end of the trip?

